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SAS WG Short Set Syntax Annotated with Output Tables

Actual SAS syntax is indented and are in Bold text.

NOTE: For data analysis, use your standard weighting and estimation techniques.

The syntax below produces frequency distributions on each the six domains. Codes 7 (REFUSED), 8
(NOT ASCERTAINED) and 9 (DON'T KNOW) are RECODED as MISSING.

Step 1: Generate frequency distributions on each of the six domain variables.

VIS_SS is the WG-SS Vision question.

If VIS_SSin (1, 2, 3, 4) then Vision=VIS_SS;
Else If VIS_SS in (7, 8, 9) then Vision=,;

Proc Freq Data=SS.Funcdisbl13;
Tables Vision;
Run;

NOTE: SS.Funcdisb13 is the name of the SAS file used for these analyses. When preparing your SAS
code, replace this SAS file with the name of your SAS file.

Vision: Degree of difficulty seeing

Cumulative
Frequency Percent Valid Percent  Percent
Valid  No difficulty 13690  79.0 81.6 81.6
Some difficulty 2708 15.6 16.2 97.8
A lot of difficulty 333 1.9 2.0 99.8
Cannot do at all 36 2 2 100.0
Total 16767 96.8 100.0
Missing 559 3.2
Total 17326  100.0
HEAR_SS is the WG-SS Hearing question.
If HEAR_SSiin (1, 2, 3, 4) then Hearing =HEAR_SS;

Else If HEAR_SSin (7,8,9 ) then Hearing =;

Proc Freq Data=SS.Funcdisbl3;
Tables Hearing;

Run;
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Hearing: Degree of difficulty hearing

Cumulative
Frequency Percent Valid Percent  Percent
Valid  No difficulty 13680  79.0 81.6 81.6
Some difficulty 2753 15.9 16.4 98.0
A lot of difficulty 310 1.8 1.8 99.9
Cannot do at all 23 1 1 100.0
Total 16766  96.8 100.0
Missing 560 3.2
Total 17326  100.0

MOB_SS is the WG-SS Mobility question.

If MOB_SSin (1, 2, 3, 4) then Mobility=MOB_SS;
Else IfMOB_SSin (7,8,9 ) then Mobility=;

Proc Freq Data=SS.Funcdisbl13;
Tables Mobility;
Run;

Mobility: Degree of difficulty walking or climbing steps

Cumulative
Frequency Percent Valid Percent  Percent
Valid  No difficulty 13424 77.5 80.1 80.1
Some difficulty 2165 12.5 12.9 93.0
A lot of difficulty 792 4.6 4.7 97.7
Cannot do at all 380 2.2 2.3 100.0
Total 16761  96.7 100.0
Missing 565 3.3
Total 17326  100.0

COM_SS is the WG-SS Communication question.

If COM_SSin (1, 2, 3,4) then Communication =COM_SS;
Else If COM_SSin (7, 8, 9 ) then Communication =.;

Proc Freq Data=SS.Funcdisbl13;
Tables Communication;
Run;
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Communication: Degree of difficulty communicating using usual language

Cumulative
Frequency Percent Valid Percent  Percent
Valid  No difficulty 15874 91.6 94.7 94.7
Some difficulty 745 4.3 4.4 99.2
A lot of difficulty 94 5 .6 99.7
Cannot do at all 43 2 3 100.0
Total 16756 96.7 100.0
Missing 570 3.3
Total 17326  100.0
SC_SS is the WG-SS Self-care question.
If SC_SSin (1, 2, 3, 4) then Self_Care=SC_SS;
Else If SC_SSin (7, 8, 9) then Self_Care=;
Proc Freq Data=SS.Funcdisbl3;
Tables Self_Care;
Run;
Self_Care Degree of difficulty with self-care
Cumulative
Frequency Percent Valid Percent  Percent
Valid  No difficulty 16029 925 95.7 95.7
Some difficulty 544 3.1 3.2 98.9
A lot of difficulty 114 v 7 99.6
Cannot do at all 68 4 4 100.0
Total 16755  96.7 100.0
Missing 571 3.3
Total 17326  100.0

COG_SS is the WG-SS Cognition question.

If COG_SSin (1, 2, 3, 4) then Cognition=COG_SS;
Else If COG_SSin (7,8,9 ) then Cognition=;

Proc Freq Data=SS.Funcdisb13;
Tables Cognition;
Run;
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Cognition: Degree of difficulty remembering or concentrating

Cumulative
Frequency Percent Valid Percent  Percent
Valid  No difficulty 13719 79.2 81.9 81.9
Some difficulty 2632 15.2 15.7 97.6
A lot of difficulty 382 2.2 2.3 99.9
Cannot do at all 20 1 A 100.0
Total 16753  96.7 100.0
Missing 573 3.3
Total 17326 100.0

Step 2: Calculate a variable, SUM 234

SUM_ 234 summates the number of domains coded SOME DIFFICULTY (2) or A LOT OF
DIFFICULTY (3) or CANNOT DO AT ALL (4) for each person. This new variable is used in the
determination of disability identifiers: DISABILITY1 and DISABILITY?2.

The syntax below counts the number of domains/questions a person has that are coded SOME
DIFFICULTY (2) or A LOT OF DIFFICULTY (3) or CANNOT DO AT ALL (4).

Possible range 0: no difficulties in any domain, to 6: all six domains coded SOME DIFFICULTY (2) or
A LOT OF DIFFICULTY (3) or CANNOT DO AT ALL (4).
MISSING (9) are those who have coded 7, 8 or 9 on all six domains.

If missing(Vision) and missing(Hearing) and missing(Mobility) and missing(Cognition) and
missing(Self_Care) and missing(Communication) then SumPoints=;

Else If (Vision =1) and (Hearing =1) and (Mobility =1) and (Cognition =1) and (Self_Care =1)
and (Communication =1) then SumPoints=0;

Else SumPoints=SUM( (Vision in(2,3,4)),(Hearing in(2,3,4)),(Mobility in(2,3,4)),(Cognition
in(2,3,4)),(Self_Care in(2,3,4)),(Communication in(2,3,4)) );

If SumPoints =.  then SUM_234 =;

Else If SumPoints = 1 then SUM_234=1,
Else If SumPoints = 2 then SUM_234=2,;
Else If SumPoints = 3 then SUM_234=3;
Else If SumPoints = 4 then SUM_234=4;
Else If SumPoints = 5 then SUM_234=5;
Else If SumPoints = 6 then SUM_234=6;
Else If SumPoints = 0 then SUM_234=0;

Proc Freq Data=SS.Funcdisbl3;
Tables SUM_234;
Run;
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SUM_234

Valid Cumulative
Frequency Percent Percent Percent

Valid .00 9266 53.5 55.2 55.2
1.00 3839 22.2 22.9 78.1
2.00 1892 10.9 11.3 89.4
3.00 989 5.7 5.9 95.3
4.00 481 2.8 2.9 98.2
5.00 232 1.3 1.4 99.5
6.00 78 5 .5 100.0
Total 16777 96.8 100.0

Missing 549 3.2

Total 17326 100.0

Step 3: Calculate a variable, SUM_34

SUM_34 summates the number of domains_coded A LOT OF DIFFICULTY (3) or CANNOT DO AT
ALL (4) for each person. This new variable is used in the determination of disability identifier:
DISABILITY?2.

The syntax below counts the number of domains/questions a person has that are coded A LOT OF
DIFFICULTY (3) or CANNOT DO AT ALL (4)

Possible range 0: no difficulties coded A LOT OF DIFFICULTY (3) or CANNOT DO AT ALL (4) in
any domain, to 6: all six domains coded A LOT OF DIFFICULTY (3) or CANNOT DO AT ALL (4).
MISSING (9) are those who have coded 7, 8 or 9 on all six domains.

If missing(Vision) and missing(Hearing) and missing(Mobility) and missing(Cognition) and
missing(Self_Care) and missing(Communication) then SumPoints2=.;

Else If (Vision in(1,2)) and (Hearing in(1,2)) and (Mobility in(1,2)) and (Cognition in(1,2)) and
(Self_Care in(1,2)) and (Communication in(1,2)) then SumPoints2=0;

Else SumPoints2=SUM( (Vision in(3,4)),(Hearing in(3,4)),(Mobility in(3,4)),(Cognition
in(3,4)),(Self_Care in(3,4)),(Communication in(3,4)) );

If SumPoints2 =.  then SUM 34 =
Else If SumPoints2 = 1 then SUM_34
Else If SumPoints2 = 2 then SUM_34
Else If SumPoints2 = 3 then SUM_34
Else If SumPoints2 = 4 then SUM_34

4

4

Else If SumPoints2 =5 then SUM_3
Else If SumPoints2 = 6 then SUM_3
Else If SumPoints2 = 0 then SUM_34

omm_.boor\)H

Proc Freq Data=SS.Funcdisbl13;
Tables SUM _34;
Run;
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SUM 34

Valid Cumulative
Frequency Percent Percent Percent

Valid .00 14905 86.0 88.8 88.8
1.00 1367 7.9 8.1 97.0
2.00 345 2.0 2.1 99.0
3.00 117 T T 99.7
4.00 31 2 2 99.9
5.00 9 1 1 100.0
6.00 3 0 .0 100.0
Total 16777 96.8 100.0

Missing 549 3.2

Total 17326 100.0

Step 4: Calculate Disability Identifier: DISABILITY1

The syntax below calculates the first disability identifier: DISABILITY1 where the level of inclusion is
at least one domain/question is coded SOME DIFFICULTY or A LOT OF DIFFICULTY or CANNOT
DO AT ALL.

MISSING (.) are those who have coded 7, 8 or 9 on all six domains.

IT missing(Vision) and missing(Hearing) and missing(Mobility) and missing(Cognition) and
missing(Self_Care) and missing(Communication) then Disabilityl=.;

Else If SUM_234 >=1 then Disabilityl=1;

Else Disabilityl=2;

NOTE: SUM_234 >= 1 means that at least one of the six domains is coded at least SOME
DIFFICULTY (2).

Proc Freq Data=SS.Funcdisbl3;
Tables Disability1;

Run;
DISABILITY1
Valid Cumulative Weighted
Frequency Percent Percent  Percent Percent*
Valid  without disability 9266 53.5 55.2 55.2 58.1
with disability 7511 43.4 44.8 100.0 41.9
Total 16777 96.8 100.0 100.0
Missing 549 3.2
Total 17326  100.0

*Weighted estimate provided — but is not part of the SAS syntax.
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Step 5: Calculate Disability Identifier: DISABILITY?2

The syntax below calculates the second disability identifier: DISABILITY2 where the level of inclusion
is: at least 2 domains/questions are coded SOME DIFFICULTY or any 1 domain/question is coded A
LOT OF DIFFICULTY or CANNOT DO AT ALL.

MISSING (9) are those who have coded 7, 8 or 9 on all six domains.

IT missing(Vision) and missing(Hearing) and missing(Mobility) and missing(Cognition) and
missing(Self_Care) and missing(Communication) then Disability2=.;

Else If (SUM_234 >=2 OR SUM_34=1) then Disability2=1;

Else Disability2=2;

NOTE: The above syntax identifies those with at least two of the six domains coded as at least SOME
DIFFICULTY (2): SUM_234 >= 2, OR those who have one domain that is coded A LOT OF
DIFFICULTY (3) or CANNOT DO AT ALL (4): SUM 34 =1.

Proc Freq Data=SS.Funcdisbl13;
Tables Disability?2;

Run;
DISABILITY2
Valid Cumulative Weighted
Frequency Percent Percent  Percent Percent*
Valid  without disability 12707 73.3 75.7 75.7 78.3
with disability 4070 23.5 24.3 100.0 21.7
Total 16777 96.8 100.0 100.0
Missing 549 3.2
Total 17326  100.0

*Weighted estimate provided — but is not part of the SAS syntax.

Step 6: Calculate Disability Identifier: DISABILITY3

The syntax below calculates the third disability identifier: DISABILITY3 where the level of inclusion
is: any 1 domain/question is coded A LOT OF DIFFICULTY or CANNOT DO AT ALL.

MISSING (9) are those who have coded 7, 8 or 9 on all six domains.

THIS IS THE CUT-OFF RECOMMENDED BY THE WG.

If missing(Vision) and missing(Hearing) and missing(Mobility) and missing(Cognition) and
missing(Self_Care) and missing(Communication) then Disability3=.;

Else If ((Vision = 3 OR Vision = 4) OR (Hearing= 3 OR Hearing = 4) OR (Mobility= 3 OR
Mobility = 4) OR (Communication= 3 OR Communication = 4) OR (Self_Care =3 OR
Self_Care = 4) OR (Cognition = 3 OR Cognition = 4)) then Disability3=1,;

Else Disability3 = 2;

Proc Freq Data=SS.Funcdisbl13;
Tables Disability3;
Run;
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DISABILITY3

Valid Cumulative

Frequency Percent Percent

Percent

Valid  without disability 14905
with disability 1872
Total 16777
Missing 549
Total 17326

86.0 88.8

10.8 11.2

96.8 100.0
3.2
100.0

Weighted
Percent*
88.8 90.5
100.0 9.5
100.0

*Weighted estimate provided — but is not part of the SAS syntax.

Step 7: Calculate Disability Identifier: DISABILITY4

The syntax below calculates the fourth disability identifier: DISABILITY4 where the level of inclusion
is any one domain is coded CANNOT DO AT ALL (4).
MISSING (.) are those who have coded 7, 8 or 9 on all six domains.

If missing(Vision) and missing(Hearing) and missing(Mobility) and missing(Cognition) and
missing(Self_Care) and missing(Communication) then Disability4=.;
Else If ((Vision = 4) OR (Hearing = 4) OR (Mobility = 4) OR (Communication = 4) OR

(Self_Care = 4) OR (Cognition = 4)) then Disability4=1;

Else Disability4 = 2;

Proc Freq Data=SS.Funcdisb13;

Tables Disability4;
Run;

DISABILITY4

Valid Cumulative
Percent

Frequency Percent Percent

Valid  without disability 16312
with disability 465
Total 16777
Missing 549
Total 17326

94.1 97.2
2.7 2.8

96.8 100.0
3.2

100.0

Weighted
Percent*
97.2 97.8
100.0 2.2
100.0

*Weighted estimate provided — but is not part of the SAS syntax.
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APPENDIX

SAS Code Used with the 2013 NHIS Data File

Data SS.Funcdisbl3;
Set NHIS.Funcdisbl3 ;

*The syntax below produces frequency distributions on each the six domains.
(REFUSED), 8 (NOT ASCERTAINED) and 9 (DON'T KNOW) are INCLUDED as MISSING.;

*Vision;
*Generate frequency distribution for each domain question.
missing;

If VIS SS2 in (1,2,3,4) then Vision=VIS SS2;

Else Vision=.;

*Communication;
*Generate frequency distribution for each domain question.
missing;
If COM_SS in (1,2,3,4) then Communication=COM SS;
Else Communication=.;

*Hearing;

*Generate frequency distribution for each domain question.
If HEAR SS2 in (1,2,3,4) then Hearing=HEAR SS2;
Else If HEAR SS2 in (7,8,9 ) then Hearing=.;

Convert 7,8,9 to

Convert 7,8,9 to

Recode 7,8,9 to

*Cognition: Degree of difficulty remembering or concentrating;
Recode 7,8,9 to

*Generate frequency distribution for each domain question.
If COG_SS in (1,2,3,4) then Cognition=COG_SS;
Else If COG_SS in (7,8,9) then Cognition=.;

*Self care;
If UB SS in (1,2,3,4) then Self Care=UB_SS;
Else Self Care=.;

*Mobility;
If MOB _SS2 in (1,2,3,4) then Mobility=MOB SS2;
Else Mobility=.;

o7

o7

*Step 1: Generate frequency distributions on each of the six domain variables.;

*Step 2: Calculate a variable, SUM 234. SUM 234 summates the number of domains

coded SOME DIFFICULTY (2) or A LOT OF DIFFICULTY (3) or CANNOT DO AT ALL

each person. This new variable is used in the determination of disability

identifiers: DISABILITY1l and DISABILITY2.

(4) for

Codes 7

The syntax below counts the number of domains/questions a person has that are coded
SOME DIFFICULTY (2) or A LOT OF DIFFICULTY (3) or CANNOT DO AT ALL (4).
Possible range 0: no difficulties in any domain, to 6: all six domains coded SOME

DIFFICULTY (2) or A LOT OF DIFFICULTY (3) or CANNOT DO AT ALL

(4) .

MISSING (9) are those who have coded 7, 8 or 9 on all six domains.;

If missing(Vision) and missing(Hearing) and missing (Mobility) and
missing(Cognition) and missing(Self Care) and missing(Communication)

SumPoints=.;

Else If (Vision =1) and (Hearing =1) and (Mobility =1) and
(Self Care =1) and (Communication =1) then SumPoints=0;

(Cognition

then

1)

and

[IRURRY
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Else SumPoints=SUM( (Vision in(2,3,4)), (Hearing in(2,3,4)), (Mobility
in(2,3,4)), (Cognition in(2,3,4)), (Self Care in(2,3,4)), (Communication
in(2,3,4)) );

If SumPoints =. then SUM 234 =.;
Else If SumPoints = then SUM 234=1;
Else If SumPoints then SUM 234=2;
Else If SumPoints then SUM 234=3;
Else If SumPoints then SUM 234=4;
Else If SumPoints = then SUM 234=5;
Else If SumPoints then SUM 234=6;
Else If SumPoints = then SUM 234=0;

Il
oonuUuld WN K

*Step 3: Calculate a variable, SUM 34. SUM 34 summates the number of domains coded
A LOT OF DIFFICULTY (3) or CANNOT DO AT ALL (4) for each person.

This new variable is used in the determination of disability identifier:
DISABILITYZ2.

The syntax below counts the number of domains/questions a person has that are coded
A LOT OF DIFFICULTY (3) or CANNOT DO AT ALL (4)

Possible range 0: no difficulties coded A LOT OF DIFFICULTY (3) or CANNOT DO AT ALL
(4) in any domain, to 6: all six domains coded A LOT OF DIFFICULTY (3)or CANNOT DO
AT ALL (4). MISSING (9) are those who have coded 7, 8 or 9 on all six domains.;

If missing(Vision) and missing(Hearing) and missing (Mobility) and
missing(Cognition) and missing(Self Care) and missing(Communication) then
SumPoints2=.;

Else If (Vision in(1,2)) and (Hearing in(1,2)) and (Mobility in(1,2)) and
(Cognition in(1,2)) and (Self Care in(1,2)) and (Communication in(1,2))
then SumPoints2=0;

Else SumPoints2=SUM( (Vision in(3,4)), (Hearing in(3,4)), (Mobility

in(3,4)), (Cognition in(3,4)), (Self Care in(3,4)), (Communication in(3,4)) );

If SumPoints2 =. then SUM 34 =.;
Else If SumPoints?2 then SUM 34=1;
Else If SumPoints2 then SUM 34=2;
Else If SumPoints2 = then SUM 34=3;
Else If SumPoints2 then SUM 34=4;
Else If SumPoints2 then SUM 34=5;
Else If SumPoints2 then SUM 34=6;
Else If SumPoints2 = then SUM 34=0;

Il
oonuUurbd WNR

*Step 4: Calculate Disability Identifier: DISABILITY1l. The syntax below calculates
the first disability identifier: DISABILITY1 where the level of inclusion is at
least one domain/question is coded SOME DIFFICULTY or A LOT OF DIFFICULTY or CANNOT
DO AT ALL. MISSING (9) are those who have coded 7, 8 or 9 on all six domains;

If missing(Vision) and missing(Hearing) and missing (Mobility) and
missing(Cognition) and missing(Self Care) and missing(Communication) then
Disabilityl=.;

Else If SUM 234 >=1 then Disabilityl=l;

Else Disabilityl=2;

*Step 5: Calculate Disability Identifier: DISABILITY2. The syntax below calculates
the second disability identifier: DISABILITY2 where the level of inclusion is: at
least 2 domains/questions are coded SOME DIFFICULTY or any 1 domain/question is
coded A LOT OF DIFFICULTY or CANNOT DO AT ALL.

MISSING (9) are those who have coded 7, 8 or 9 on all six domains;

WIREVEYH T AP B R /N S B, BV A
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If missing(Vision) and missing(Hearing) and missing(Mobility) and
missing(Cognition) and missing(Self Care) and missing(Communication) then
Disability2=.;

Else If (SUM 234 >=2 OR SUM 34=1 ) then Disability2=1;

Else Disability2=2;

*Step 6: Calculate Disability Identifier: DISABILITY3.The syntax below calculates
the third disability identifier: DISABILITY3 where the level of inclusion is: any 1
domain/question is coded A LOT OF DIFFICULTY or CANNOT DO AT ALL. MISSING (9) are
those who have coded 7, 8 or 9 on all six domains.

THIS IS THE CUT-OFF RECOMMENDED BY THE WG.;

If missing(Vision) and missing(Hearing) and missing (Mobility) and
missing(Cognition) and missing(Self Care) and missing(Communication) then
Disability3=.;

Else IF ((vision = 3 OR vision = 4) OR (Hearing= 3 OR Hearing = 4) OR
(mobility= 3 OR mobility = 4) OR (Communication= 3 OR Communication = 4)
(Self Care = 3 OR Self Care = 4) OR (Cognition = 3 OR Cognition = 4)) then
Disability3=1;

Else Disability3 = 2;

*Step 7: Calculate Disability Identifier: DISABILITY4.The syntax below calculates
the fourth disability identifier: DISABILITY4 where the level of inclusion is any
one domain is coded CANNOT DO AT ALL (4). MISSING (9) are those who have coded 7, 8
or 9 on all six domains;

If missing(Vision) and missing(Hearing) and missing(Mobility) and
missing(Cognition) and missing(Self Care) and missing(Communication) then
Disabilityéd=.;
Else IF ((vision =
4) OR (Self Care
Else Disability4d =

4) OR (Hearing = 4) OR (mobility = 4) OR (Communication =
4) OR (Cognition = 4)) then Disability4=1;
2;
Label
Vision="Degree of difficulty seeing"
Communication="Degree of difficulty communicating using usual language"
Hearing="Degree of difficulty hearing"
Cognition="Degree of difficulty remembering or concentrating"”
Self Care="Degree of difficulty with self-care"
Mobility="Degree of difficulty walking or climbing steps";

Format Vision Communication Hearing HEAR 3 R HEAR 4 R Cognition Self Care
UB 1 RUB 2 R Mobility MOB 4 R MOB 5 R Diff.

Disabilityl Disability2 Disability3 Disability4 DisabF.;

Run;

Title "NHIS 2013: Unweighted frequencies with missing included in the percent";
Proc freq data=SS.Funcdisbl3;
Tables Vision Hearing Mobility Communication Self Care Cognition SUM 234
SUM 34 Disabilityl Disability2 Disability3 Disability4/missing;
Run;

Title;

Title "NHIS 2013: Unweighted frequencies";
Proc freq data=SS.Funcdisbl3;
Tables Vision Hearing Mobility Communication Self Care Cognition SUM 234
SUM 34 Disabilityl Disability2 Disability3 Disability4;
Run;

Title;
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Proc format library=SS.SS;

Value Diff
1="No Difficulty"
2="Some Difficulty"
3="A lot of Difficulty"
4="Cannot do at all"
.="Missing"

Value DisabF
1="With Disability"
2="Without Disability"

Run;
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